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SECTIONA
Answer ALL questions in this section.

Questions must be answered with a cross in a box X. If you change your mind about
an answer, put a line through the box £< and then mark your new answer with a cross [X.

1 Statement 1:In 2017 the Kenyan Government spent Sh172.5 billion on healthcare.
This is 8% of its annual budget.

Statement 2: The African Union believes African countries should spend 15% of their
annual budgets on healthcare.
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Which one of the following best describes the two statements above? S
X ;:
%%
o . %
[J A Both statements are positive SR
o
[0 B Statement 1 is positive and statement 2 is normative 3555
% %
[l C Both statements are normative S5
SIS

[0 D Statement 1is normative and statement 2 is positive

(Total for Question 1 = 1 mark)
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2 The Chinese Government introduced a carbon emissions trading scheme. The
objective of this tradeable pollution permit scheme is to reduce carbon emissions by
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(Total for Question 2 = 1 mark)

3 Which one of the following is an example of market failure?

[J A Lower prices create an incentive for firms to switch production to more
profitable activities

[ B Excessive administrative costs are involved in meeting environmental
regulations

[J € Government provision of street lights that is greater than the social optimum
output

[J D Insured consumers take more risks in the knowledge that the insurer will pay
any resulting costs
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4 The diagram shows the market for education.

W

MPC=MSC

MPB MSB

O Q Q

The welfare gain area is RUT

The welfare gain area is RUX

Quantity of education

Which one of the following can be deduced from the diagram?

The social optimum quantity is Q, and price is P,

The market equilibrium quantity is Q, and price is P,

(Total for Question 4 = 1 mark)
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games console

Price per Xbox

5 The diagram shows the relationship between the price of Xbox games consoles and
the quantity demanded of PlayStation 4 games consoles.

complementary goods
inferior goods
substitute goods

unrelated goods

Quantity demanded of
PlayStation 4 games consoles

It can be deduced from the diagram that the two goods are

(Total for Question 5 = 1 mark)

P 6 0 8 0 7 A 0 4 3 2

J b
DoRe S e | S8
KL LRL I
RRKRILRRRRLRK,

b by A NS
KOS SRS IO
I GRLARAX O S S0
SERRLLIRIIZRLLLRKRSRS

- @

K&
|
690 %
qv

255

! \J
2o,

ot 2

:q%$$p

-
e
botetes

o ]
RTINS
ot ee%s

vv”
XY

19,04
SRWPLAX

2
0

PMT

S

Joteotetess

SR
IRLLLE
S
SRR
IRLLLES
KRS
SR
DoSetatetets
:”:

AR % % %%
<RI ILIGARILICAR LA
ORI R K
Q‘fg&}ﬂp XXX R IR

QKA
QRIS
fesetetetoredoted
FEITCA
>

0
Sk
3

22&

< O P
X i
S

%

0K
borete

5

XL

AT
“'
e
S35

KEATOR
NG T <
WLy
% X

SEBEBIIER
G S

5 J

<) <

) 23

LRI REN

L
0%
5%
LR
T
5

=
7 08

RS
XX
o
e
09%!

KK

!
09
o2l

0

<KL IRIALIRILL R
LR E LRI RIS

KA I IEIRIKIIIK KA
090009000050, 00000910 9,09 9.0 %

QO RIRILLIRLHIIHENGL
HIKRERERRILLIKLLLKLS
SSIELERLEIEILIILLIKE,

K>
RIS
2
R3S
2K
boses

o2
%

SOC %0
2
Pogtaaed

QLR XSO AEII IR
<SR KA SR

}Aw%#’ & ¢ :'Qg 0% Q‘
A

0GOS
SR
=
L

oo

=
<55
295
S
SRS

ke

0950
XK
0

%
%

0
5

TS,
SIS

205 ety
AR
Rg8L ramagd

AR,




zs%?@a
ﬁa&ﬁ&g
CRKKKK

% %
O X
e Sovoved%
B
A
s
RIS
QSRR

5
A%
IARLALS

L

55
25
SHERIX

K5
K55
o s

1%
DO 2
S

KON
C4A
Dotet

bote!
hoge®.!
B
Botey o

%

o et
praseTatetes

29
SRGRL

oS
KI5
A

>
(00— 20
QAR
it

o~
2
)]
7
2

<
&
000000000000000004‘

&%

R LEIERR LRI LA

09 000,
90909
52
00200
ERA o
000 X

092 ;..‘
SRPP
BOLeL & o8
<Rl
beSoreele

pooss"eveield

3
e

K5
S
3
%

o
(9
99

LIRS
et
XK

0
o
S

oS 00
SEAZR
Ko
PRS-

%

otet

X

%

htatetets’s!

<5
S
A<

<
20

RaSrsrtatetetatetetetetetototolel

oo

e
SRS
AR

RN
S5
&

DseTtate!
XIS
% 502
oS & et

(

|
|

6 The table shows the estimated price elasticity of supply for three commodities.

Estimates of price

Commodities elasticity of supply

Corn +0.23

Rice +0.27

Wheat +0.31

(Source: http://ageconsearch.umn.edu/bitstream/19267/1/sp05zh01.pdf)

Which one of the following can be deduced from the table?

Corn, rice and wheat have price elastic supply

A 10% increase in the price of corn will cause a 23% increase in quantity

supplied

A 10% increase in the price of rice will cause a 2.7% decrease in quantity

supplied

A 10% increase in the price of wheat will cause a 3.1% increase in quantity

supplied

(Total for Question 6 = 1 mark)

TOTAL FOR SECTION A = 6 MARKS
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SECTIONB
Answer ALL questions in this section in the space provided.
7 In 2016 the Nigerian Government removed the subsidy on petrol.

Draw a diagram to illustrate the impact of the removal of the subsidy on the
equilibrium price and quantity of petrol.

(Total for Question 7 = 4 marks)
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The chart shows how Canada’s total electricity supply was generated from different
resources in 2015.

Other non-
renewables  Other renewables

Natural gas 1% 1%
4%

Nuclear
16%
Hydro
63%

(Source: http://www.theenergycollective.com/jarretadams1/2292773/
canada-working-toward-decarbonizing-its-grid)
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With reference to Canada’s electricity generation, explain the difference between
‘renewable resources’ and ‘non-renewable resources.

(Total for Question 8 = 4 marks)
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r

9 Singapore’s economy is highly dependent on trade with the rest of the world. In 2017,
Singapore’s exports were 173.3% of its GDP.

Explain one role of financial markets in such an economy.

(Total for Question 9 = 4 marks)

10

P 6 0 8 0 7 A0 1 0 3 2

{ <KL
o NS SN
K IESL IR I AIA
SRRLLRKLRARSS,

‘> ‘ ‘
JB AL GITNK X T AN RN
SRR EOIO O

RRERLEERLEEIREEEIRKEEK

! \J
2o,
ot 2
:q%$$p

b % M ey gTy s
Vove v
I
IR

PMT

S
Joteotetess
SR
IRLLLE
S
SRR
IRLLLES
KRS
SR
DoSetatetets
%ﬁg
s

I
LIS
RS

QO
Peeee
VE

XK
(02002000202
T

KL
T

oo
S0
9

22&

< O P
X i
S

%

ORI
SOIOEEIELES
Y WRET
RS
SRS

%
0%

e
&
%

o
S

XX = %

<4 pNe
KBNS
SEEBIEL

KK

!
09
o2l

0

RIS IIEIRI I ARK A
LR E LRI RIS

R R LRRIERLRK
Sodetetotetotetotototoletole etoteds
STt otete et tetetetetetotetetes

0%

0%
R IR IRRIR

SSIELERLEIEILIILLIKE,

X
0o
%!
SRR

2K
boses

o2
%

QRIS ORI
RIS
PO K VKD T EALS
SRIHAN ]
IXF A
IR

R
SRR
5K

o g
SRS
05 e
A
KA
e

SRKK
SHELRIK



QRN
RS
20000
L8

SRS
o
R
SR
%0 958
0927 %98

S
b9%0z 7039}
S

55650555 % % % %%
AL
5 =
% RSREL
K RIRELIILIXIES

<
0%
0
05
KK

02020070
KRXLRS
9%
b

0% %%

9e%%
ORLLEK

S
poselets?
CRE
S

98 v %8
RIS
O
06,2 2%
SR
Resavitates
TR
T
0»—&0

KP
%

j93n-aqlel
SARK
QNIA K
oSeele
b9l

o5 ~ 38
SRR
?ﬂfb&
So%s
L

55
25
SHERIX

CS5RN

Ratele

I KA IRA
o oiateiele’s

o~
o
-

R R R R R BRI IRERLIRLILLR

555

O o oot et totatetedetotetetotel
dotetotetototeteletoteteletodevetoteds

<>
5

%!
023

%
55
1 %
A%%

PO
o

QR
00000,
AR R

<
%S
09t
X
g\
St
oo

o~
&
et

K

35

&8
o

&8

QOO
%%&&&&? 2%
$ 284
oo

%

0000000
RS

<X
{
02,

K RIEIAERLIARL
AT
2 % % %

XX
SRR
ONC
Ve

!
09

oS
RS

SARIS
SRS

é?ﬁm?
ey

S
0
) "
2,9
et

5
SRS
Joset meels
CASRXL
O

:00%0

<

5
o
e

SRR

%
SloteloN
P NOTY
o LA NN
XRIKIRK

oY
)
K505

X2 N

X X
o
5
5

KRR LAIRRKLAR KLY
IR IR IR

IR

PSS
B RS

R IRIIRIKIT KKK

2%

(9%

(9%
XM

CORL

(9%

<

X
S

K B

oS

<l
%%
‘:‘0‘00‘0

%5
2
o5

ava%eld

%e%ﬁ?’
KRR
L
%
AR
SR5IK
KRR
000000
%
SR
50K
KRR
SRLLLR
boses

el
-
xwg‘

80 = o%
s

( )
10 In September 2017, Centrica increased the price of gas and electricity by 12.5%.

Before the price rise Centrica had 12 800 000 customers but this fell by 800 000 after
the price increase.

Ceteris paribus, calculate the price elasticity of demand for gas and electricity from
Centrica. Show your workings.

(Total for Question 10 = 4 marks)

55
35
Jososoteteses

oZeloletetel

\. J

RO O O 0 )
Turn over »
P 6 0 8 0 7 A 0 1 1 3 2 urnove

PMT



r

11 Lithuania’s population decreased from 3.7 million in 1989 to 2.9 million in 2015.

Ceteris paribus, explain the likely impact of this change in population on Lithuania’s
production possibility frontier (PPF).

lllustrate your answer with a diagram.

(Total for Question 11 = 4 marks)

TOTAL FOR SECTION B = 20 MARKS
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(c) With reference to Figure 2 and Extract A, analyse one reason why the price of
lamb increased during 2017.

[llustrate your answer with a supply and demand diagram.
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Between 2008 and 2016 weekly household real income increased by 2.7% in
Australia.

(b) With reference to Figure 1, explain the likely change in quantity demanded of
lamb between 2008 and 2016.
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(c) With reference to Figure 2 and Extract A, analyse one reason why the price of
lamb increased during 2017.

[llustrate your answer with a supply and demand diagram.
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(d) With reference to Extract B, examine the external costs resulting from increased
meat production.
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(e) With reference to Extract B, discuss the likely effects of the introduction of an
indirect tax on meat.

[llustrate your answer with an appropriate diagram.
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(Total for Question 12 = 34 marks)
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SECTIOND
Answer ONE question from this section.

Write your answer in the space provided.
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13 ‘The HPV vaccine is recommended for all adults in the USA because it reduces the risk
of cancer by 88%. If the HPV vaccine was given to all adults 925 000 cases of cancer
would be prevented. However only 18.3% of adults were vaccinated between 2011
and 2014 preventing 170 000 cases of cancer!
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Evaluate why only 18.3% of adults were vaccinated.
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(Total for Question 13 = 20 marks)

OR

14 12 million consumers within the UK are on standard variable tariffs for their gas
and electricity. One energy supplier, RWE npower, charged consumers on the
standard variable rate £1 166 per year. However, its cheapest deal was £935 per
year. Consequently the UK Government is introducing a maximum price for gas and
electricity.

X GEIRRLEIRRLEEIRRLEIRLEAY

0:00000000000000000000000 <

(o0
RS
L
RO
V
S

2 SRR,
Setotetetetotetotetotototeletote doletede elote
et et e tete et tetetetetetotetotete!

S
e e e oS00 %0 0050 %000 0% %0 600t 9425930

(9%
o%

1%

%8

] |
LICKIVY AN
QR AIHIIGAL:
ERLRHRRIRRLRK,

<X

Evaluate the likely impact of the introduction of a maximum price for gas and
electricity.
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Sources for use with Section C.

The market for meat

Figure 1 Australian consumers’ income elasticity of demand for lamb

Income elasticity of demand (estimated)

Lamb -0.146
Figure 2 World price of lamb, US$ per kg, March 2016 to March 2018
7_
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Extract A The price of lamb

The rise in the price of lamb has come at a time when supply is stable. Higher demand
for lamb has been caused by a number of factors. Rising global incomes led to a 28%
increase in demand for Australian lamb in 2017. At the same time demand has risen in
the USA. Successful advertising campaigns have also contributed to increased demand.

The lambs in Australia are often allowed to walk and graze freely and most of their food
is wild grass which is considered to be a free good.

Jan-18

Feb-18
Mar-18
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Extract B Indirect tax on meat needed to address climate change

Meat consumption continues to increase around the world and meat production has
risen in response. However, meat production has a damaging effect on the environment
causing water pollution and 15% of all global greenhouse gas emissions. Excessive use of
antibiotics to treat animals is also leading to a decline in the effectiveness of antibiotics
used to treat human illnesses.

Many people consume too much meat, seriously damaging their health. This results in an
increase in obesity, diabetes and cancer. For example, consuming 100 grams of red meat
per day increases the risk of developing diabetes by 19%.

The Paris climate agreement set limits on the amount of global greenhouse gas
emissions. However these targets will be missed unless taxes are used to restrict
production and consumption.

One study looked at the impact of the introduction of a global meat tax. This study found
a 40% tax on beef, a 20% tax on dairy products and a 8.5% tax on chicken would reduce
emissions and save 500 000 lives a year.

The problems associated with meat production are not well-known by the public. One
way to reduce emissions without the need for a tax would be for governments to provide
the public with information on the external costs associated with meat production and
consumption.
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